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Sixth Semester B.E. Degree Examination, June/July 2016 
Management and Entrepreneurship 

Time: 3 hrs. 	 Max. Marks:100 

Note: Answer any FIVE full questions, selecting 
atleast TWO questions from each part. 

PART — A U 
Q.  
.i 1 a. What is management? List the roles of management. 	 (04 Marks) 

	

74 	
b. What are the nature and characteristics of management? 

	

E 	 (06 Marks) 

c. Distinguish between the administration and management. 	 (05 Marks) 

d. Explain the different skills and different levels of management. 	 (05 Marks) 

La  

	

cgt -8 	
2 a. Define planning. Explain briefly hierarchy of plans. 	 (05 Marks) 

0 — 

Y 

-1 	 b. Explain the different types of planning premises, with example. 	 (05 Marks) 
_.  

	

g ,,,„: 	 c. With neat diagram, explain the steps in decision making. 

..c 	

(06 Marks) 

	

to ii 	 d. Differentiate between strategic and tactical planning. 	 (04 Marks) 
c to 

=N  .  

	

a i •Tr 	3 a. What are the types of organization? Explain with neat diagram line and staff organization. 

	

29 ti, 	
(08 Marks) 0J  

.5 2 	b. Briefly explain MBO and MBE. 	 (06 Marks) 
O 6  

O c. Explain the nature and importance of staffing. 	 (06 Marks) 
O 0, 
a = 

.... 

Ò"  .1 	
4 a. What is leadership? What are the major approaches of leadership? 	 (06 Marks) 

Q a, 	 b. Explain the steps in controlling. 	 (06 Marks) 

Ts tf; 
a c. Compare the Maslow's  need hierarchy theory with Herzberg's two factor theory. (08 Marks) 
o -c3 
to C al ea 

MI—  0,- 	 PART — B  
5 a. Define entrepreneur. Differentiate between entrepreneur and intrapreneur. 	 (07 Marks) 

.o 0 

>,,., 	 b. Explain the characteristics of an entrepreneur and explain the stages in entrepreneurial 

(0 
O process. 	 (08 Marks) a- 
fa. 0, c. Write a note on: growth of industrial entrepreneurship in India. (05 Marks) 

c., 

§ gi  c.) d• 
k .11 	

rt

6 a. Explain the role of SSIs in the economic development. 	 (05 Marks) 

b. Define small scale industry. Discuss its important characteristics. 	 (06 Marks) 
c,, to 

O -'a• 	 c. Explain the steps for starting an SSI. 	 (05 Marks) 
1- 0 

a -0 d. List the different policies of SSI. (04 Marks) 
>,,... 

to 
c to 

7 a. Explain the objectives and functions of NSIC. 	 (08 Marks) 

b. Write short notes on: 
0 
Q 	 0 	SISI (small industries service institutes) , >, 

cf5 .: 	 ii) 	DIC (District Industries Centre) 

iii) SIDBI (Small industries development bank of India) 

O iv) SIDO (Small industries development organization). 	 (12 Marks) 

• 8 a. Give the meaning of a project. 	 (02 Marks) 

b. Write the need and significance of project report. 	 (08 Marks) 

c. What are the steps involved in formulation of project report? 	 (05 Marks) 

d. What is project appraisal? What are the main stages of project appraisal? 	 (05 Marks) 
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10CS62 USN 

Sixth Semester B.E. Degree Examination, June/July 2016 
UNIX Systems Programming 

Time: 3 hrs. Max. Marks:100 
Note: Answer any FIVE full questions, selecting 

atleast TWO questions from each part. 

PART — A 

Compare and explain : ANSI C and K and R C with examples. 	 (08 Marks) 

List and explain feature test macros in POSIX systems. 	 (08 Marks) 

Compare : execution of an API with execution of C library function. Also list any four error 
status codes with their meaning. 	 (04 Marks) 

What is file? Explain types of files with command examples. 	 (06 Marks) 
Explain UNIX Kernel support for files with a neat sketch. 	 (08 Marks) 

Write any three differences between : 
i) Hard links and soft links ii) C steam pointer and file descriptor. 	 (06 Marks) 

Explain file and record locking with C/C++ program. 	 (08 Marks) 

Explain the following API's with their prototypes. : 
i) open 	ii) read iii) write 	iv) close. 	 (08 Marks) 

Write a C/C++ program to rename a file [use my command /link and unlink APIs].(04  Marks) 

With a neat diagram, explain about termination ways for a process. Also write a C/C++ 
programs to display : 
i) Command line arguments 	ii) Environment variables. 	 (10 Marks) 

Explain setjmp and longjmp functions with their prototypes.  (06 Marks) 

With neat sketch, explain memory structure/ layout of a C/C++ program that is to be 
executed. 	 (04 Marks) 

PART — B 

What is race condition? Mention and explain routines to avoid race condition. 	(06 Marks) 

Explain the following : 
i) orphaned process ii) zombie process iii) terminal login iv) network login. 	(10 Marks) 

Explain : i) process group ii) session. 	 (04 Marks) 

What is daemon? Explain characteristics and coding rules. 	 (10 Marks) 

Write a C/C++ program to show the use of alarm API. 	 (06 Marks) 

Define and explain : i) SIGCHLD signal ii) waitpid function. 	 (04 Marks) 

What is inter-process communication? List any 4 mechanisms (IPC). Also write a C/C++ 
program that creates a child process to print a message. 	 (08 Marks) 

Write a C/C++ program(s) to implement inter-process communication using FIFO file. 
(06 Marks) 

Explain briefly with examples : i) Message queues ii) semaphores. 	 (06 Marks) 

Explain shared memory as an inter-process mechanism (IPC). 	 (08 Marks) 
What are steam pipes? Explain passing of file descriptors. 	 (06 Marks) 
Briefly explain client-server functions. 	 (06 Marks) 
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Sixth Semester B.E. Degree Examination, June/July 2016 
Compiler Design 

Time: 3 hrs. 	 Max. Marks:100 
Note: Answer FIVE full questions, selecting 

at least TWO questions from each part. 
PART - A  

1 a. Explain with a neat diagram, the phases of a compiler. Mention the input and output for each 
phase with an example, "position = initial + rate * 60". 	 (12 Marks) 

b. Explain input buffering strategy used in lexical analysis phase. (04 Marks) 
c. Construct a transition diagram for relational operators. 	 (04 Marks) 

2 a. Show that the following grammar is ambiguous: 
E-> +ElE * El(E)lid 
Write an unambiguous grammar for the same. 	 (06 Marks) 

b. Given the grammar 
0, S -> (L) I a 

• = 	 L -> L,S I S 
6: d' i) Make necessary changes to make it suitable for LL(I) parsing. 
• 11 

	

6,  = 	ii) Construct FIRST and FOLLOW sets. 

	

et 	iii) Construct the predictive parsing table. 
'-'1' u iv) Show the moves made by the predictive parser on the input (a, (a, a)). 	(10 Marks) 

P. = c. Write a recursive descent parser for the grammar: S -> cAd , A --> ab I a and for the input 

	

z. 	"cad" trace the parser. O (04 Marks) 

	

4 	3 a. Show that the following grammar is not LL(1) without constructing parsing table. .0 .6 

	

ct: ry 	S ---> iCtSSt  I  CC Pr4  cr 

	

i5 1, 	S' -> eS lE 
1 "6  

	

GO
0 -0 	C -* b 	 (06 Marks) CC 

7:1 . — 
0 " 

	

ocs co 	 b. What is meant by handle pruning? Show the working of a shift reduce parser for accepting 

	

0 . 	id + id * id , considering the grammar: 
6 

	

> 	E->E+TIT 
c, , 

	

3 - 	T->T * FIF . - 
5 

	

F,. .z, 	c. F -> (E) id 	 (10 Marks)  c m 

	

u ,z 	 For the following grammar S --> 0S1 101, indicate the handle in the following right sentential 

	

.§ 	form 00001111. 	 (04 Marks) 3  .ct.  

	

t;...- 	4 a. Consider the following grammar: •,-0 

	

5b 	S-->L=RIR 
O ' 
• '4—• 

	

t.0 0 	 L -> *R I id 
tc4 

	

Z 'L.': 	R -> L 
'7 S! 

	

P > 	i) Obtain LR(0) items. O .1! (., 

	

v.. :.-• 	ii) Compute FIRST and FOLLOW. 

	

0 .: 	 iii) Obtain SLR parsing table. 
iv) Check whether the given grammar is SLR or not. 	 (10 Marks) .1> 

b. Consider the following grammar: 
S -> AA 

O A -> Aa I b 
i) Compute sets of LR(1) items. 
ii) Construct canonical LR(1) parsing table. 
iii) Show the parsing steps for the string "baaba". 	 (10 Marks) 

1 of 2 
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10CS63 

PART — B  
5 a. For the given productions shown below, write semantic rules and construct annotated parse 

tree for 3 *5 + 4n 
L— En, E —> El + T , E —> T, T —> Tl * F, T —>F, F—> (E), F —>digit 	(08 Marks) 

b. Obtain SDD for simple type declaration. Construct a dependency graph for the declaration 
float a, b, c along with evaluation order. 	 (08 Marks) 

c. Define the following with examples: 
i) S — attributed definitions 
ii) L — attributed definitions. 	 (04 Marks) 

6 a. Explain how DAG will help in intermediate code generation. Construct a DAG and a three 
address-code for the expression a + a * (b — c) + (b — c) * d 	 (08 Marks) 

b. Explain the following with an example: 
i) Quadruples 	ii) Triples 	iii) Indirect triples 	 (06 Marks) 

c. Explain syntax directed translation of switch statement. 	 (06 Marks) 

7 a. Describe the general structure of an activation record. Explain the purpose of each item in 
the activation record. 	 (08 Marks) 

b. What is garbage collection? Explain the design goals of garbage collector. 	(10 Marks) 
c. Define local and non-local data. 	 (02 Marks) 

8 a. Briefly explain various issues in code generation phase. 	 (10 Marks) 
b. Generate the 3-address statements for the following programming construct and obtain the 

basic blocks for generated code. 
i = 1 

do 
sum = sum + a[i] * b[i] 
i =i+1 

while (i < = 20) 
	

(10 Marks) 

2 of 2 
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10CS64 USN 

Sixth Semester B.E. Degree Examination, June/July 2016 

Computer Networks - 

Time: 3 hrs. 	 Max. Marks:100 
Note: Answer any FIVE full questions, selecting 

atleast TWO questions from each part. 

& -8  
E.F1 	 1000 km long. How long does it take to get the message from source to destination? 
1 	 (06 Marks) ., 5,-, 

II 
2 a. With neat diagram explain leaky bucket algorithm used for policing. 	 (08 Marks) 

•zr 	 b. Explain the FIFO and priority queue scheduling for managing traffic at packet level. • ,..1 

E t, 	 (08 Marks) 

.S 
0 

°2  
,c. 	c. Write a note on closed loop control in packet switching network. 	 (04 Marks) . 

C •C 0 
 3 a. Explain the format of IPV4 basic header. 	 (08 Marks) 

,`',' 

▪ 

 r-- 
b. With neat diagram, explain UDP datagram. 	 (08 Marks)  —g O cr. 	c. Write a note on address resolution protocol. 	 (04 Marks) t.3 !...) 

-cEi o c ---- o -o 0 9 V. 	4 a. Explain the three — way handshake for establishing a TCP connection. 	(08 Marks) .‘,1 o 
-o 

2  
,4 	b. Write a note on RIP protocol. 	 (04 Marks

b

) 
c. Explain the border gateway protocol. 	 (08 Marks) 71 

>, t ... 
1.. CD 
o '-' 	 PART — B .5 

1 it' 	5 a. Define domain name system. Explain DNS message format. 	 (08 Marks) 

O 2 	
b. Explain in detail any two major categories of threats to network security. 	(08 Marks) 

6 . 

F, 	
c. Write a note on network management system. 	 (04 Marks) 

rTi 5 
'5 ..`el 	6 a. Explain the overview of differentiated services operation of QOS with neat diagram. 
• .- o 	 (08 Marks) en 

.P. 6,0 	b.  Explain multiprotocol Lable switching (MPLS) and its packet format. 
:5 	

(06 Marks) 

E >" 	c. Write a note on P2P connection in context with overlay networks. 	 (06 Marks) 
O 2.2 0 
8 $‘ 	7 a. Define data compression. Explain overview of digital voice process in multimedia 
.., c..i 	 networking. 	 (08 Marks) 

b. Explain in brief SIP. 	 (08 Marks) o 
z 	C. Write a short note on H•323 protocol. 	 (04 Marks) 

i 
g 	

8 a. Explain types of attack in Ad-hoc networks. 	 (06 Marks) 
b. Explain LEACH clustering protocol in wireless sensor network. 	 (08 Marks) 
c. Write a note on Zig-Bee technology. 	 (06 Marks) 

PART — A ri <.3 
'6. 	1 a. Differentiate between connection oriented and connectionless services. 	(04 Marks) T,; 
E 	b. Define routing algorithm. Explain the Bellman — Ford algorithm with an example. (10 Marks) 

c. A 64 — kilobyte message is to be transmitted over two hops in a network. The network limits 
packets to a maximum size of 2 kilobytes, and each packet has a 32 — byte header. The L. 
transmission lines in the network are error free and have a speed of 50 Mbps. Each hop is 
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Sixth Semester B.E. Degree Examination, June/July 2016 
Computer Graphics & Visualization 

6 U 
U 

	

a tt. 	 PART — A  
4 

	

E 	1 a. With neat diagrams, explain different graphics architectures. 	 (13 Marks) 
A 

	

-c 	b. With a neat diagram, explain the elements of a computer graphics system. 	(07 Marks) 0 
w 0 

2 a. Explain two forms of text. Mention GLUT library functions for each of the form. (06 Marks)  t) • _,,- 

	

m -- 	b. Explain seven major groups of openGL graphics functions. 	 (07 Marks) 0.7 
..Y 	 c. Explain index color model. How it is supported in GLUT library. 	 (07 Marks) 
g F; 

. 	
II to 

	

s 00 	3 a. What are the major characteristics that describe the logical behaviour of an input device? 
a. +  

	

,,,- 	 Explain how openGL provides the functionality of each of the classes of logical input ,,1 

	

0 	 devices. 	 (08 Marks) 
r. 

	

5E 2 	b. What is double buffering? How it is implemented in openGL? 	 (05 Marks) 
c .-a ' O c. What is display list? Write openGL code segment that generate a blue colored square using 

	

0 ,,4 	 display list. 	 (07 Marks) = 0 
,n  .a.  
L. cr 

	

o 0 	4  a. Explain different frames in openGL. 	 (08 Marks) 
i

L. o c 	b. With the help of code segments, explain the modeling of colored cube and also explain 
-0 

. — 

	

cl cl 	bilinear interpolation. 	 (12 Marks) 53o = 
-0 5- 0 
V z 

	

-0 73' 	 PART — B  
>, 

	

.... t 	5  a. Explain translation, scaling and rotation in a homogeneous coordinate system. 	(10 Marks) I.. 0 O 4- b. What is concatenation of transformation? Derive concatenated final matrix M for rotating a 

q* 

	

a & 	3D object about a fixed point. 	 (10 Marks) 
0 

	

5 

1 	6  a. With neat diagram explain the following projections in openGL along with APIs provided 

	

E. 	 i) perspective ii) Parallel. 	 (10 Marks) 

o b. L. 	b. Explain different classical viewings 	 (10 Marks) 
>,5-- 
to 

7  a. Briefly explain the different classification of light and material interaction. How material c 04 

Time: 3 hrs. 	 Max. Marks:100 
Note:  Answer FIVE full questions, selecting 

at least TWO questions from each part 

3:). 7; 
t °> 	

properties are specified in openGL? 	 (10 Marks) 
o e Q b. What are the different types of light sources? Explain. 	 (10 Marks) >5, 

cS 
(-4 	8  a. What are the basic implementation strategies? Explain. 	 (10 Marks) 

b. What is clipper? Briefly explain Cohen Sutherland line clipping without code. Discuss four 0 z 	 cases. 	 (10 Marks) 

I * * * * * 
E 
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Sixth Semester B.E. Degree Examination, June/July 2016 
File Structures 

	

6 	Time: 3 hrs. 	 Max. Marks:100 . 
U E. 

74 
P 

	

4 	 PART — A  .-k 
1 a. Explain briefly the evolution of file structures design. 	 (05 Marks) 

• - 	b. Suppose it is needed to store a backup of a large mailing list with one million records of 1 
C°c _o  hundred bytes record on a 2400 foot reels of 6250 bpi —tape with an internal block gap of 0.3 0.= 

	

,. 3 	 inch and tape speed is 200 inches per second. 
i) What would be the minimum blocking factor required to fit the file on to the tape? 

 

g 

I I c4) 

	

CC 	 ii) If a blocking factor of 50 is used how long would it take to read one block including the 
- 

	

'a •rr 	 gap? 
• ti, ,., 

	

. 	 iii) How long it would take to read to entire file? 	 (08 Marks) 
4., c 

	

.-. 2 	c. Explain the functions of READ, WRITE and SEEK with parameters. 	 (07 Marks) 
o 3 
$1 

	

 o 	2 a. What are the different ways of adding structures to a file to maintain the identity of fields ? . r. 

	

,A 1,7i 	 (10 Marks) 
6 & 

	

Q a.) 	b. Explain the concept of inheritance using I/O buffer class hierarchy. 	 (06 Marks) 

	

'8. 	c. Define the following terms: 
-c oi) - 

	

co F5 	 i) File access method 	ii) Meta-data 	iii) RRN 	iv) Template class. 
8 

0 = 
-Ei To 

	

>, ,t 	3 a. How spaces can be reclaimed from deletion of records from fixed length record file and 
T. 0  
9 	 variable length record file? 	 (10 Marks) -,-,,, 
a E. 	b. What is data compression? Explain different techniques available for data compression. 
F. - o ,,s 	 (10 Marks) 
V 

E :7? . ,,, 
• c, 	4 a. Explain the object-oriented model for implementing co-sequential process. 	(08 Marks) ✓: ,.,. c ,, 

	

m = 	b. With example, explain K-Way merge and selection tree for merging large number of lists. 

	

.0  _ 	 (06 Marks) c -E, 
,,F, C. Write a algorithm for heap sorting method for insertion. Show the construction of heap tree ,s4b .=,, 

for following sequence FDCGHIBEA 	 (06 Marks) 
Q V, C z.- .6 e PART — B  

	

0 

• . 

	5 a. Define a B-tree. Explain the creation of a B-tree, with examples. 	 (10 Marks) 

	

...: r,i 	b. What are the properties of B-tree? Explain worst case search. 	 (06 Marks) 
0 
o c. List the four properties of B*  trees. 	 (04 Marks) 

,-. 	6 a. With an example, explain adding a simple index to the sequence set. 	 (10 Marks) 
b. Explain how to load a simple prefix B+ tree. 	 (10 Marks) 

Note: Answer FIVE full questions, selecting 
at least TWO questions from each part. 

(04 Marks) 

USN 
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101S63 

7 a. Suppose that 1000 locations are allocated to hold 700 records in randomly hashed file and 
that each address can hold 4 records (bucket size = 4). Compute the following values: 
i) The packing density. 
ii) The expected number of addresses with no records assigned to them by hash function. 
iii) The expected number of addresses with exactly one record assigned. 
iv) The expected number of addresses with one record plus one or more synonyms. 
v) The expected number of overflow records assuming that only 4 records can be assigned 

	

to each home address. 	 (10 Marks) 
b. Explain the different collision resolution techniques. 	 (t 0 Marks) 

8 a. Explain how extendible hashing works. 	 (10 Marks) 
b. Write short notes on: 

i) Dynamic hashing. 
ii) Storage fragmentation. 	 (10 Marks) 

2 of 2 
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Sixth Semester B.E. Degree Examination, June/July 2016 
Software Testing 

Time: 3 hrs. 	 Max. Marks:100 
Note: Answer any FIVE full questions, selecting 

atleast TWO questions from each part. 

PART — A 

4 

	

-o 	 (08 Marks) 
V. 0 0 , 

	

6  - i 	
2  a. Justify the usage of boundary value analysis with function of two variables and highlight the 

	

cam -- 	 limitations of BVA. 	 (08 Marks) .= 

	

3 	b. Briefly explain weak normal and strong robust equivalence class testing with an example. 
g  F; (08 Marks) 

	

no cc c cc 	c. Write a short note on random testing. 	 (04 Marks) 
:= cq+  
", 4  "I  - r.a  0  t 3 a. What is cyclomatic complexity? Explain how to calculate cyclomatic complexity of a given 

0 
.E 4) 	 program by considering the biggest of three number logic. 	 (08 Marks) 

• 	

't o 	b. Explain slice —based testing guidelines and observations in detail. 	 (08 Marks) ,4 
c = 	c. Write a short note on define/use testing. 	 (04 Marks) a)  ,4  

4  —g O , 4  a. With a neat diagram explain the waterfall life cycle and clearly show partial functional 
To.  t O — 	 decomposition of the ATM system. 	 (08 Marks) 

IND
o -0 c 

	

cl m 	b. List and explain pros and cons of the water fall model. 	 (04 Marks) 

	

-o 
,4-,,.  
t5 	c. With supporting diagrams and examples explain top-down and bottom-up integration. 

	

..6
co m 	 (08 Marks) .. ._,73, 
>, t _ 
o" 2 	 PART — B , ._. 

	

I I: 	5  a. Explain the basis concept for requirements specification. 	 (12 Marks) 

6 O .2 	
b. Explain with supporting diagram the client server testing. 	 (08 Marks) 

3 3 

	

cn t.T. 	6  a. Define validation. With a neat sketch explain the relation of verification and validation 

1 a. What is software testing? Why it is so important in software development life cycle? 
(06 Marks) 

b. Define the following : i) Error ii) fault iii) failure iv) incident v) test vi) test case. (06 Marks) 
c. Explain with a neat diagram the currency converter and Saturn wind shield wiper controller. 

m t 
m -0 	 activities with respect to artifacts produced in a software development project. 	(10 Marks) 1—, p) 

 OA 
'• •—• O b. Explain sensitivity and redundancy. 	 (06 Marks) to 

=  
c. Define the terms reliability and availability. 	 (04 Marks) 

- '>- O P. • 7  a. Distinguish between : 
cs 

i) Competent programmer hypothesis and coupling effect hypothesis 
... csi 	 ii) Distinguished mutant and equivalent mutant. 	 (04 Marks) 

0 0 	b. Explain the fault—based adequacy criteria. 	 (08 Marks) 
z 	c. What is scaffolding? Explain briefly generic versus specific scaffolding. 	(08 Marks) C' m c 0 
g 	8 	Write short notes on : 

a. Clean room process. 	 (06 Marks) 
b. Different types of risks specific to the quality process. 	 (06 Marks) 
c. A standard organization of an analysis and test plan. 	 (08 Marks) 

SKIT
 L

IB
RARY



10CS/IS661 USN 

Sixth Semester B.E. Degree Examination, June/July 2016 
Operations Research 

Time: 3 hrs. 	 Max. Marks:100 
Note: Answer FIVE full questions, selecting 

at least TWO questions from each part. 

g -2  O - 	 v) Optimal Solution. 	 (10 Marks) ca. = 

g 
..3 

	

	b. The whit window company is a company with only 3 employees which makes two different 
kinds of handcrafted windows a wood framed and an aluminum framed window. They earn 11 OA 

.S 1̀° 	$60 profit for each wood framed window and $30 profit for each aluminum framed window.  
-i

.s, 
a Tr 	 Doug makes the wood frames and can make 6 per day. Linda makes the aluminium frames 
F2 0 	and can make 4 per day. Bob forms and cuts the glass and can make 48 square feet of glass 

c 
'a-  12 	 per day. Each wood framed window uses 6 square foot of glass and each aluminum framed O i. , O windows used 8 square feet of glass. The company wishes to determine how many windows 
..3 3 	 of each type to produce per day to it maximize total profit. Formulate it as LPP and solve , 

gI 	graphically. 	 (10 Marks) 
U e) 
71 3 	2 a. Find all the basic solutions to the following systems of equations identifying in each case the 0 -  to - 	basic and non basic variable and finally the optimal solution. 0 a) 

0 	Maximize Z = 5x, +3x, + 4x3  ,. 
;- 

N z -c lat 	 Subject to 
0, > - ° 	 2x, +x, + x3  20 
E a ..8  

3x, +x, + 2x3  30 
t  x I 1  2 > x x3 	1:). 	 (10 Marks) o   

b. Use the simplex method to solve the following problem. 
ti ,,, t.0 O- 	Maximize Z = x, +2x, +4x3  0 =  

Subject to ,- 
O • .- 0, ,- 

0.0 to ° 	 3x, +x, +5x3  1.() 
=  .. ,— 

1 "7; 	 xI  +4x2  +x3  <8— 
E> >

t., 

o e 2x, + 2x3  ..<_ 7 
>, 

O-  Q 	 x,,x„x3  0. 	 (10 Marks) 
_z c,i 
di 	3 a. Solve the following LPP using two phase method. 
0 z 	 Minimize Z = 2x, +3x, + x3  

1 	 Subject to 
x, +4x, +2x3  8 

3x, +2x, 6 

x i ,x,,x3  .- O. 	 (it) Marks) 

c.> 
.t] 	 PART — A  
• 1 a. Define the following with reference to linear programming model. 

i) Unbounded solution 
ii) Feasible solution 
iii) Slack variable 
iv) Surplus variable 

1 of 3 
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b. Use Big M method to solve the problem 
Minimize Z = 3x, +2x2  + 4x3  

Subject to 
2x, + x2  + 3x3  = 60 

3x, +3x2  +5x3  120 

x, , x2 , x3 	0. 

4 a. Solve by revised simplex method 
Maximize Z = 6x, —2x2  +3x3  

Subject to 
2x, — x2  +2x3  2 

x, +4x3  4and x, ,x2 ,x3  0. 

b. Use duality to solve ; 
Minimize Z, = 3x, + x2  
Subject to 
x1 + x2 1 

2x, +3x2  2, x,,x2 ,x3  O. 

PART — B  
5 a. Solve the following problem by dual simplex method. 

Minimize Z = 2x, +x2  
Subject to 
3x1 + x2  3 

4x, +3x2  ?. 6 

x +2x2 
x1/ x2 0. 

b. Solve the following problem by using lower.bound technique. 
Maximize Z = 10x, +15x2  +8x3  
Subject to 
x, + 2x, +2x3  5.200 

2x, + x2  + x3  220 

3x, +x2  +2x3  5_180 

x, _10, x2  20, x3  30. 

(10 Marks) 

(10 Marks) 

(10 Marks) 

(10 Marks) 

(10 Marks) 

a. Hindustan construction company needs 3, 3; 4 and 5 million cubic feet of fill at four earthen 
dams-sites in Punjab. It can transfer the fill from three mounds A, B and C where 2, 6 and 7 
million cubic feet of fill is available, cost of transporting one million cubic feet of fill from 
mounds to the four sites in lakhs are given in the table. 
Find IBFs by using any method and check for optimality. 	 (10 Marks) 

To 
From I II III IV ai 

A 15 10 17 18 2 
B 16 13 12 13 6 
C 12 17 20 11 7 
bJ 	3 3 4 5 
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b. Five men are available to do five different jobs. From past records the time (in hrs) that each 
man takes to do each job. is known and given in the following table ; 

Job ' 
I II III IV V 

A 2 9 2 7 1 

Man 
B 
C 

6 
4 

8 
6 

7 
5 

.6 
3 

1 
1 

D 4 2 7 3 1 
E 5 3 9 5 1 

Find the assignment of men to jobs that will minimize the total time taken. 	(10 Marks) 

7 a. Define the following with reference to game theory with an example : 
i) Pure strategy 
ii) Mixed strategy 
iii) Saddle point 
iv) Pay off matrix 
v) 2 person zero sum games. 	 (10 Marks) 

b. In a game of matching coins with two players, suppose one player wins Rs 2 when there are 
two heads and wins nothing when there are two tails and loses Rs 1 when there are one head 
and one tail. Determine the payoff matrix, the best strategies for each player and the value of 
the game. 	 (10 Marks) 

8 	Explain briefly the following 
a. Tabu search 
b. Genetic Algorithm 
c. Simulated annealing technique 
d. Meta heuristics. (20 Marks) 
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Sixth Semester B.E. Degree Examination, June/July 2016 
Compiler Design 

Time: 3 hrs. 	 Max. Marks:100 
Note: Answer FIVE full questions, selecting 

at least TWO questions from each part. 

as 
PART — A  

▪ I a. With a neat diagram, explain various phases of compiler. 	 (10 Marks) 

E 

	

Tt 	b. Construct a transition diagram for recognizing relational operators. Sketch the program 
segment to implement it, showing the first state and one in final state. 	 (10 Marks) 

is 

	

il 	2 a. Write an algorithm to eliminate left recursion from a grammar. Eliminate left recursion from  ,„ • „ 
to 

	

= 	 the grammar: S —> Aa I b, A -+ Ac I sd I a . 	 (08 Marks) 
L I" 1 	b. Show that the following grammar is ambiguous: go 

	

 
Z il 	 Stmt —> if expr then stmt to 

	

 co + 	 I if expr then stmt else stmt • , 
•a -4- 	 I other 
0 a 

write an unambiguous grammar for the same. 	 (06 Marks) ,.. 0 O c 
 

do 	c. Give the rules for constructing FIRST and FOLLOW sets. 	 (06 Marks)  o 
• m = = 	3 a. What is meant by handle pruning? How it helps in shift reduce parsing? List the actions of a ,,, t.d. 

ishift reduce parser. 	 (10 Marks) 

71' t 	b. For the grammar: S —> SS +I SS* I a . Give a bottom-up parse for the input: aaa * a++. c -- O -0 
g)  g 	 (06 Marks) 
-0 8 

 
C. What are two types of conflicts during shift-reduce-parsing? Give examples. 

.... 
• A 	

(04 Marks) 
V = -o To' 
— 0 >, > 	4 a. What is the meaning of 1' and '12' in LR grammars? Why LR parsing is attractive? 
do 2  
R 	 (04 Marks) 
• 71 	b. Construct canonical LR(1) items for the augmented grammar: s' —> s; s —> Cc; c —> cCld . 
r t- , 	 (10 Marks) 
u: 2 C. Write the yacc specification of a simple desk calculator with the following grammar for ..i.,, 

,,l 	 arithmetic expressions: 
1 
4,) 	 E—>E+ TIT 

5
,.-. 0 
	 TAT* FIF 

r 
3-5   In.T a.>  F —> (E) I id . 	 (06 Marks) 
E > O e 
8 .. 	 PART - B  
.-4 c■I 	5 a. Define the following with examples: 
v. 	 i) 	Synthesized attribute 
Z) 	 ii) 	Inherited attribute 
t 
g 	

iii) S-Attributed definitions 

E 
c. 	 iv) L-Attributed definitions. 	 (08 Marks) 

b. Explain the parser stack implementation of postfix STD with an example. 	(08 Marks) 
c. Define syntax directed definition for a simple type declaration. 	 (04 Marks) 
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(04 Marks) 

(06 Marks) 

(10 Marks) 

(06 Marks) 

(08 Marks) 

(06 Marks) 

(10 Marks) 

6 a. List any four common three address instruction forms. 
b. Discuss quadruples, triples and indirect triples representation. 
c. Write syntax directed definition for flow of control statements. 

7 a. Explain the desirable properties of memory manager. 
b. Explain in detail, the strategy for reducing fragmentation in heap memory. 
c. Explain the design goals for garbage collector. 

8 a. Discuss the issues in the design of code generator. 
b. Write intermediate code for the following source code 

for i from 1 to 10 do 
for j from 1 to 10 do 

a [i, j] = 0.0; 
for i from 1 to 10 do 

a [i, i] = 1.0. (10 Marks) 
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Sixth Semester B.E. Degree Examination, June/July 2016 
Programming Languages 

6 

V 

	

E 	 PART — A  0. 

	

E 	1 a. List the different classes of languages. What makes a programming language successful? 

	

g 	 (10 Marks) 
b. What is binding time? Explain object lifetime in storage allocation mechanism. 	(10 Marks) 

tu 

	

,E 	2 a. Explain categories of control flow mechanism. 	 (08 Marks) os .-: 

	

CL  •  R 	b. What is tail-recursive function? Explain with an example. 	 (06 Marks) 

	

-4 O 	c. Explain structured alternatives to goto. 	 (06 Marks) 75 ' ii on 
S . °° 

	

c iti- 	3 a. What does it mean for a language to be strongly typed? Statically typed? What prevents say 
.;I' .1- 

	

a 	C from being strongly typed? 	 (08 Marks) Li (1) 

	

5 	b. Discuss denotational, constructive and abstraction based views of types. 	(06 Marks) 

8 •

▪ 

 = 

	

g 	c. What is garbage? Explain Mark and Sweep and stop and copy garbage collection. (06 Marks) 
a.) 

 

•
0 4  . 

	

— 	4 a. Explain in detail, the calling sequence of subroutine. 	 (08 Marks) 

	

c4 I e 	b. What is an event in programming language? 	 (06 Marks) 

	

9- 	c. Explain parameter passing modes. 	 (06 Marks) 
o -o 

..s as 

	

,-.0 	 PART — B  
e 5 a. List and explain three defining characteristics of OOP object oriented programming 

-0 .E (10 Marks) .>, t 

	

re" $3 	 b. Explain importance of this parameter in OOP. 	 (05 Marks) -4 , 
O 8, 	c. Explain dynamic method binding. 	 (05 Marks) 
§ gt  =- 

	

6 9' 	
6 a. What are normal order evaluation, applicative-order evaluation and lazy evaluation? With an 

	

4'11 	 example. 	 (09 Marks) 

	

g I 	b. Explain characteristics of functional program. 	 (05 Marks) 

	

P) 1 	c. Describe three ways in which prolog programs can depart from pure logic. 	(06 Marks) ›.,,..-. 
too  
.5. p 

 
•  	7 a. Explain motivation of concurrency. Give the contrast between concurrency and parallelism. 

	

t Ì> 	 Explain the implementation levels at which parallelism appears. 	 (10 Marks) 

	

8 e 	b. What is a race condition? What is synchronization? 	 (04 Marks) 

	

O .$` 	c. Describe different mechanism to create new threads. 	 (06 Marks) 
._:. (-si 
a) 
E 8 a. Define virtual machine. Explain JVM in brief (Java Virtual Machine). 	 (10 Marks) Z 
t b. What is a JIT compiler? (JUST in TIME). 	 (04 Marks) 

g 	c. Give the difference between JVM and CLI (Common Language Infrastructure). (06 Marks) 
t 

Time: 3 hrs. 	 Max. Marks:100 
Note: Answer FIVE full questions, selecting 

at least TWO questions from each part. 
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